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PINELLAS PARK 2.3
[ntoxilyzer - Alcohol Analyzer

flode} 8408 SN 80-181732
[2/23/ 2018

Software: 815027

Test g/ete Time
fir Blamk f.008 10:27
Lontrol Test 0,051 16:28
fir Blank g.000 15:28
{oniral Test 8,851 18:2¢
Rir Blank 8,460 14:31
(ontrol Test 8,051 10:30
Rir Biank .00 10:3!
Control Test Stats

Buerage

Std e
Ret Std Deu(%)

fperator’s Sigature

PINELLAS PARK P.D.

Intoxilyzer - Alcohocl Analyzer

Model 8000 SN 80-001732
02/23/2016

Software: B100.27

Test g/210L Time
Air Blank 0.000 10:19
Control Test 0.203 10:19
Air Blank 0.00C 10:20
Control Test 0.204 10:21
Air Blank 0.0800 10:21
Control Test 0.204 10:22
Air Blank 0.C00 18:22
Control Test Stats

Average ¢.2037

std Dev ¢.0006

Rel std Devi{%} 0.2835

e

Operator's Signature

PINELLES FAR -
Intexilyzer

liede! G058

02/232016

Software: 800,27

Test ey Tine
Bir Blank f. 00 33
Lontrot Test 9,080 10:33
Rir Blang 0.8 1934
Contra) Test 0,68l .34
Rir Biank 2,00 16:35
Control Test .08l 10:3
Rir Blank 1,040 103
Contral Test Stats

Auerage _.08m7

Sta deu £.0086

Rel Std Deu(ys £.7i57

s
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PINELLAS PARK P.L.
Intexilyzer - flcono! Analyzer

Hode} BE0% SN 85-081732
f2r23veste

Softuarae: 8190.27

Test 320 Tine
fir Blank 2.008 23
{ontrot Test 1.084 10:23
Rir Blank i, 088 124
{ontral Test 0. 084 i5:24
Bir Blark 0,008 0:255
Control Test 0,083 125
filr Blank 0.o08 10:24
Contral Test Stats :
fugrage £. 4837

St Oey 030606

Rel 5td Deut?)  1.63M
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